
x quantity

chassis

1

1

1

2

hardware

Glasshouse TVC transformers 2 inside chassis

9

9

1

4

8

4

4

3

4

15

switches
1

1

wire & solder

10m

5m

page 7

Glasshouse TVC
Passive Pre-

amplifier No.1 
10/12/06

M4 nut fitting of TVC transformers

location

M3 solder tags

0.5mm diameter Mundorf silver/gold wire

Elma 2 pole 6 way selector switch

component 

Chassis base

Chassis lid

Chassis front panel

knob

red phono socket

black phono socket rear panel

earth post

M4 x 6mm pozi-drive screw

Glasshouse TVC Passive Pre-amplifier No.1 parts list: TABLE 1

Dale 2 pole 23 way switch

rear panel

to fit front panel to chassis base

to fit chassis base and lid together

to connect to earth post for easy soldering

M4 x 10mm pozi-drive screw fitting of TVC transformers

feet

tie wraps

rear panel

all wiring

underside of chassis base

for clean wiring

front panel

all soldering

M3 x 6mm countersunk screws

Mundorf 3.8% silver solder

front panel


